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Guess Paper – 2009

Class – XII
Subject – Mathematics
(PROBABILITY)
1.
In a hurdle race, a race player has to cross hurdles.  The probability that he will be each hurdle is 4/5.  What is the probability that he will knock down fewer than 2 hurdles?

2.
A bag X contains 2 white and 3 red balls and a bag Y contains 4 white and 5 red balls.  One ball is drawn at random from one of the bag and is found to be red.  Find the probability that it was drawn from bag Y.

3.
A man is known to speak truth 3 out of 4 times.  He throws a die and reports that it is a six.  Find the probability that it is actually a six.

4.
In a binomial distribution, the sum of mean and variance of 5 trials is 3.75.  Find the distribution.

5.
Suppose that 80% of people are right handed.  What is the probability that at most 6 of a random sample of 10 people are right handed?

6.
Two cards are drawn successively with replacement from a well-shuffled of 52 cards.  Find the P.D, mean and variance for the number of kings.

7.
Two cards are drawn without replacement from a well-shuffled of 52 cards.  Find the P.D, mean and variance for the number of aces.

8.
An urn contains 5 red and 3 black balls.  Find the P.D of the number of blue balls in a draw of 2 balls with replacement.

9.
An insurance company insured 2000 scooters, 3000 car and 4000 track drivers.  The probabilities of their meeting with an accident are 0.04, 0.06 and 0.15 respectively.  If one of person meets with an accident then find the probability that he is a car driver.

10.
A bag contains 6 red and 7 blue balls and another bag contains 5 red and 4 blue balls.  A ball is drawn from the first bag and without noticing its color is put in the second bag.  A ball is then drawn from the second bag.  Find the probability that the ball is drawn is blue in color.

11.
A speaks truth in 60% of the cases and B in 70% of the cases.  In what percentages of cases they are likely to (i)
contradict each other
(ii)
agree with each other, in stating same fact?

12.
A problem in mathematics is given to three students who’s chancing of solving it are 1/2, 1/3 and 1/4 respectively.  What is the probability that the problem will be solved?

13.
A husband and wife appear in an interview for two vacancies in the same post.  The probability of husband’s selection is 1/5 and that of wife’s selection is 1/3.  What is the probability that 

(i)    both are selected
(ii)    only one is selected
(iii)    none is selected
(iv)    at least one selected?

14.
In a group, there are 3 women and 4 men.  Three persons are selected at random from this group.  Find the probability that 2 women and 1 man or 1 woman and 2 men are selected.

15.
Two cards are drawn at random, without replacement from a pack of 52 cards, find the probability that both the cards will be red.
16.
The probability that a student selected at random will pass in mathematics 2/3 and the probability that he/she passes in mathematics and c.s is 1/5.  What is the probability that he/she will pass in c.s if it is known that he/she has passed in mathematics?

17.
Given P(A) = 1/2, P(B) = 1/3 and P(A U B) = 2/3.  Are the events A and B independent?
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